
Izpit iz STATIKE (OG, VSŠ), 13.06.2014  

Rešitve: 

1. Naloga: 

Reakcije: 

 

Diagrami notranjih sil: 

 

[Nx] 

 

[Nz] 

 

[My] 

1 2 3 4
1 2 3 4 5

0.03773

0

-0.06523 Fx:-15

Fz:-5 0.000809

0.03757

0.000809
Fz:-17.5

0.000809

-0.03399

1 2 3 4
1 2 3 4 5

15 15

1 2 3 4
1 2 3 4 5

5 5

-10 -10

7.5

1 2 3 4
1 2 3 4 5

5 55

17.517.5

-7.5-7.5



 

 

2. Naloga: 

Reakcije: 
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Diagrami notranjih sil: 

 

[Nx] 

 

N1 = -137.5 kN, N2 = -75 kN, N3 = 53.03 kN. 
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3. Naloga: 

Reakcije: 

 

Diagrami notranjih sil: 
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